
 

  

Level 2 – Fortgeschritten – Blatt 2 Lösung A1 a) ������� � ��∙����
�� � ��∙�����
 � 2�
 ⋅ ���   b) 3��� ����� �
���� � 3
�������
����������
������
������� � 3
�
�
��
����
���
���
�
������� � 3��
��������
�
�������   c) 3�� ���
 � 3����
�����
 � 3������
   d) �� � 3���  e) � �
�� ����� ���� � ������������
�������
������
����������� � ��
��
�
���
�
�
���
�

���
��
� � � �
���

���
��
�   f) ���
�����
 � ���
��
 � 3 ⋅ ��� �
  g) !���
���"�����
� � ���#��#� � �� ∙ ��� �#	  h) ���
������ � ��
���
 		 i) %������&'���
&�
 � ������#&�
	 j) !�����&���
&�� � ��&
���# 	  k) %��
��
��������� � ���#�
���
 			 l) !(��
���&����
&�
 � )&�
��
��# m) !%��
���
�������� � ��
���#��
   n) ���� �*����*� �
*�� � +����*, �*��� ��
*��� � +*���* , 
*���*�
�*�
��
*��� � +*���* , *���*�
��
*��� o) � ���
!% � 4 ���
 ⋅ 4�� � 4 ���
�� � 4��
�����
 � 4�
�����
 � !�
�����
  p) �!� ���� � 3�� ���� � 3��������  q) �+ � ,���� ��*��� � �+ � ,�*�����⋅�*��� � �+ � ,� *����*��� r) � �*����* � + �*����* � +*�*��*�*��� � +� �*�*��� � !� �*�*���  Lösung A2 a) 3 �
*�
  b) 16�� 0 24�1�
 0 91  c) ���
 0 4��� � 4  d) � � �
�  e) 9� 0 12��
3 0 43�  f) 3�
 �� � 2��
3 0 3�    Lösung A3 a) 4+���,�!	  b) 4+�
1,���	  c) 2+��
1,��
 � 21�+,���
	  d) 2+
�,�
��
 � 2a23�,��12	  e) 15+��,��
�1�!	  f) 3+�
���
,��
		  g) 5+�
��
�	  h) 4+��
,��#6�!     



 

  

Level 2 – Fortgeschritten – Blatt 2 Lösung A4 a) 3 �+�
 0 2+��   b) 2�+�
 � 3+�� 0 2+�� � 4+���  c) 3�� � 2� 712�12 � 182  d) !� ���� � !� � ����   e) 3 ���� � 4��
   f) keine Vereinfachung möglich  g) + ��9 0 3+ ��9 � + ��9 �1 0 3+ ��9 	  h) keine Vereinfachung möglich i) keine Vereinfachung möglich  Lösung A5 a) ��
 ���
 0 2   b) 3+�� �+�� � 4   c) ���: 0 +������: � +���  d) �� �
� 0 � �#���� �
� � � �#��  e) �� ��� 0 1��� ��� � 1�  f) ����� 0 1�2  


